Parabola in the figure is given by: f (x) 0.5x^2 - x + 1.5
[image: image1.emf]
Consider the straight lines given by: y = 0.5x + b

The figure is plotted three straight lines with three different b-values, namely, 1.0, -1 ie.

y = 0.5x +1

y = 0.5x

y = 0.5x -1
a) Calculate for b = 1.5 coordinate the set for each of the intersections between the line and parabola.

b) Show by a calculation that for b = 0.35 intersects the line and parabola not each other.

c) Calculate the value of the number b for which the line and parabola has just one point in common.

